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wppblolok [ EERRE ] kbl

No. 1 3 9 11 12 & FHIE
E F A WTFQ WTFQ WTFQ WTFQ WTFQ g 2
13 K% & sokkok kokokk kckokk skokkk kkkk 200 1 P
14 XY Eif solkk kkokk kkokk kekkk kekkk 200 1 P
22 H#lu EHAE skofokok sfokokk fokkk kkkk kkkk 200 1 P
T R% = 20
sorckkordkok [ 3R B ] kwekokkork
No.  F K 4 13 91112 JEfL
# B Waltz
13 X% & T 11 2 1 10
14 X% B 2 2 21 2 20
22 Hil K 3 33 3 3 3.0
8 H Tango
13 X% & 12 1 1 1.0
14 X & 2 2 12 2 20
22 #lh HHEF 3 33 3 3 3.0
# B Fox trot
13 X% & T 11 2 1 10
14 X% B 2 2 21 2 20
22 Hil K 3 33 3 3 3.0
E H Quick step
13 X% & T 1 1 1 1 10
14 X & 2 2 2 2 2 20
22 #lh HHEF 3 33 3 3 3.0
A R
No. & F K & W T F Q A&t #e
13 X% & 1.01.01.01.0 40 1.0
14 X% B 20202020 80 20
22 Hil K 3.03.03.03.012.0 3.0
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1 3 03000606 A X% & x% xF B O ZHF14 1.0 1.0 1.0 1.0
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1 4 03000601 A K4 &l EEEI E=EF B O F246 2.0 20 2.0 2.0
2 0 03000646 B =45 IEBH = < | B B X 15
2 1 03000278 A ED ME me A I R 15
2 2 03000176 C #1u BB INK EF I T34 3.0 3.0 3.0 3.0
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